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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
290 =M
= 1 195, 829, 275
PChn-277" 4% 1.
= 1 157, 048, 689
SRR AR T ([ )
= 1 36, 907, 969
AR T S SAR LAY
= 1 2, 243, 529
SR SR ST 33, 8kN/m2
= 1 34, 664, 440
AT
= 1 74, 118, 834
NSV K /) 1100kN (ONP1)
& 0 9,902, 042 0
NSV K S) 1200kN (ONP1)
& 2 9, 905, 904 19, 811, 808
NSV KIS 1900kN (ONP2)
& 2 6,142, 941 12, 285, 882
NSV KIS 2000kN (ONP3)
& 2 6, 869, 191 13, 738, 382
NSV K S) 1900kN (ONP4)
& 2 6, 684, 427 13, 368, 854
NSV K S) 1000kN (ONA1)
& 2 7,442, 691 14, 885, 382
SRRV VA SRR -8R AR SD295 D10
t 0. 95, 088 28, 526
PCHr-277" H{E L
= 1 46, 021, 886
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P i A ¢ 700
= 1 3, 622, 093
R SD345 D13
t 0 288, 283 0
R SD345 D13
t 14. 43 288, 121 4, 157, 586
ERAR SD345 D16~25
t 0 276, 123 0
ERAR SD345 D16~25
t 24. 08 276, 139 6, 649, 427
VAR 36-12-25(20) (F5®)
m3 315 56, 358 17, 752, 770
PCr—7" v VFANT Y/ vATA 2257 (12512. 7B)
m 1,228 9,810 12, 046, 680
PCEXAE SWPR7BL 12512. 7 (Mj5] %)
§=7" 14 128, 095 1,793, 330
R B 1L
= 1 27, 165, 534
HEAKEEE T
= 1 5, 570, 404
Pk E
= 0 0
HEoK FRP#Y 654 X 400 X 535
T 9 207, 264 1, 865, 376
HEKE EERT VP200A
m 75 26, 141 1, 960, 575
Pk F#5 L VP200A
m 25 51, 047 1,276,175
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
AP =T PR R M12X 100
VN 160 1,433 229, 280
IRRRK RS PSR IR 210~410
T 6 39, 833 238, 998
B A
(777" ONP1-ONA1)
= 1 6, 410, 777
VAR 24-12-25(20) (@)
m3 50 30, 583 1, 529, 150
ERAR SD345 D13
t 7.88 206, 452 1,626, 841
ERAR SD345 D16~25
t 1.04 231, 047 240, 288
T P — AT
= 1 2, 783, 360
TR 5 il 24-12-25(20) (@)
T 2 115, 569 231, 138
B A
(RHRP26-A2)
= 1 8, 906, 336
VAR 24-12-25(20) (@)
m3 79 30, 583 2,416, 057
ERAR SD345 D13
t 7.28 154, 519 1, 124, 898
ERAR SD345 D16~25
t 0. 36 152, 690 54, 968
T P — AT
= 1 4, 349, 000
B HiA VR EHEE B Hubi =10
m2 0.4 3, 541 1,416
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THX Sy - THE - FER - sl B B B B G = A H (GRS
& T AT =5 b D25X 810 Av¥
T 66 7,435 490, 710
WEFBET =K W) D25X 810 Av¥
T 63 7, 449 469, 287
Fid /& 1.
(777" ONP1-ONA1)
= 1 1, 356, 313
BAEE L =V EARE (HIVE36)
m 7 1, 569 10, 983
BAEE FEE L VMR (HIVES4)
m 182 2, 806 510, 692
BAEE JESAEERRE (GB4)
m 2 5, 138 10, 276
BAEE ATV AT RS EE AR (SUSH4)
m 2 50, 387 100, 774
VAN Z YN BHAKTR 400 X 600 X 150 V5 Fl i 41 A
y%
& 3 241, 196 723, 588
Fid /& L.
(RHRP26-A2)
= 1 1, 956, 764
BAEE L =V EARE (HIVES)
m 383 2,803 1,073, 549
BAEE JESAEERRE (GB4)
m 3 5, 138 15,414
BAEE ATV AT B EE AR (SUSH4)
m 3 48,193 144, 579
VAN Z YN BHAKTR 400 X 600X 150 V5 Fh i 41 A
%
& 2 241, 196 482, 392
VAN Z YN BHAKTR 400 X 800 X 350 V45 Fh i 413 A
%
& 1 240, 830 240, 830
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
WA T
= 1 2, 964, 940
AL R0 L PR SN A%
m 11 269, 540 2,964, 940
/) - MG RIS E T
= 1 3, 654, 751
g 1T
(777" ONP1-ONA1)
= 1 1, 386, 976
RIS S 35
= 1 1, 386, 976
g T
(RHRP26-A2)
= 1 2, 065, 346
RIS S 35
= 1 2, 065, 346
W AR T
(RHRP26-A2)
= 1 202, 429
Y HAG
= 1 202, 429
% T
= 1 7,960, 301
VESEY- #5 T
= 1 3, 152, 600
=1 IERR
iy 0 0
=1 IERR
= 1 3, 152, 600
RIEE T
= 1 4,807, 701
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
i e kg =
= 1 4,807, 701
T HE
= 1 1, 683, 592
=
= 1 1, 683, 592
FSh=E 1SN
(777" ONAL)
= 1 1,289, 181
av)-p 24-12-25(20) (% ¥F)
m3 14 29, 998 419, 972
ERAR SD345 D13
t 0.27 154, 519 41, 720
ERAR SD345 D16~25
t 0.88 228, 213 200, 827
ERAR SR235 9
t 0.01 195, 937 1,959
T P — T
= 1 434, 900
SR F=<40kN/m2[t=120cm]
= 1 13, 443
i
= 1 176, 360
ESh=E 1SN
(RHRA2)
= 1 394, 411
eV 24-12-25(20) (% JF)
m3 4 29, 998 119, 992
ERAR SD345 D13
t 0.26 154, 519 40, 174
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
R SD345 D16~25
t 0.11 152, 690 16, 795
T P — AT
= 1 217, 450
EPE T H R
= 1 197, 512, 867
MR E
= 1 23, 849, 898
B SGilTE:
= 1 2, 395, 337
T
= 1 610, 130
AR T
= 1 610, 130
HTE
= 1 125,991
T R FEART - ERRE
= 1 53, 761
BV Q2 ) - DR S 2 LR
#
= 1 72, 230
BUGERRYCEE (K5 1)
= 1 1, 659, 216
MR R (FiE L)
= 1 21, 454, 561
Wi
= 1 221, 362, 765
B E
= 1 54, 227, 283
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS

R 5]

= 1 275, 590, 048

— R R

= 1 40, 609, 952
T HAlik

= 1 316, 200, 000
THE B 2 %8

= 1 31, 620, 000
TG

= 1 347, 820, 000
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